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Answer either in English or in Assamese

1. Answer the following questions : 1=10=10
o] 2RXCAET Baq vl :

(a) What is cardinal utility?
SRR Tocfel 2

(b) What is the marginal rate of substitution
between two perfectly substitute goods?
w51 s s AR cFae afes afes 29 &
2’37
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(2) (3)

(el Definelineomcielicet 2. Write short answers of the following
s R g faa | questions : 2x5=10

O 2ACAI 5 Ted A

(d) What is meant by a person be Tisk
averse’?

e o 5 g qe 6 J& T ?

(a) What is meant by slope of a budget line?
JCED (I GO O Ao 6 @ w2

(b) Distinguish between gross demand and

() Why is the average fixed cost curve net demand.

rectangular hyperbola? 4 BIfRAl S 8T IR Jrere A1LF FefT T4 1
51 %3 T8 @<IoE SHen ~[Hge o1 = ? (c) What are short-run and long-run costs of
: production?
l4i] Ehﬁn isdt;w long-run average cost curve ZHIA SIE TN See{me I T & 2
shape -
2 o (d) Establish the relationship between total
LTI 91 T G (A L-SEHoT 22 utility. and marginal utility.
{g) What is production function? o SIS AF & o Tefcior TS
Tesme w1 {2 el
fe) State the concept of optimum firm.
(h) Define expansion path. FI AfSHFR ARECOT S 41 |

STRPTR A9 ke T |
3. Answer any four of the following questions :

(i) State the concept of shutdown point of a 5x4=20
firm. oo RS R sifeR T fa
o1 ISP SeeiT T R 4raeiee! TeEs 47 | (@) What is inferior good? How is it different
from normal goods? Show it with the help
(i) Define opportunity cost. of indifference curves.
STC19 IR k! o | g2 A 2 Fefts AWaelE 3 @ewE

*j2i 7 TP @9 TRES (e |
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(b)

(c)

@
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(4)

Discuss how Slutsky equation explains
the relationship between change in price
of a good and demand for it.

AHRER AN @A TR RS S SIfERE
IS F=oE A FRRE, SCEAGA F41 |

Suppose the purchase of a lottery ticket
is under consideration of an individual.
Let the prize be ¥ 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of ¥ 10.
Further suppose that the probability of
his winning is 0-6. Find expected money
value of lottery ticket.

91 2’ o IS o1 BRI 636 (/R A
Revn sz | I fewE wmam™ I@ o
5,000 5l [{EF AR W MM [AE, (O3
10 51 FpRfd 761 AR | =G {1 2 @ s
TR FWEATO 2A 0-6. 1’541 HIOOR 2onfe
T4l 57 Sfere |

Define substitute and complementary
factors. Draw isoquants of perfect
substitutes and perfect complements in
production. Give examples.

s = “fRee TemeR sike fran | o Rew
S o AR TATT ST T % 30 |
Trzaet i |

( Continued )

(e)

4. Answer the following questions :

(S5)

“If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average
cost.” Explain.

“efecfonEe JaMe It T AT e
0, cofeql W@ oy TFEE T W @R
feiared f9eeT 2P1 #1177 v 40

.Give the various concepts of production

costs in brief.

T 9 RS qRePRR v R |

e 2CARd T

(@)

(b)
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“Revealed preference theory makes a
major advancement in the theory of
demand.” Discuss.

oy SR wgta SiRW RRGH wie
Tafe e R 17 SCeAma 40

Or / 9§

Explain how indifference curve can be
derived using revealed preference theory.

R S O SRS (A e @
o1 AR, I 401 ‘

How are average cost curve and marginal
cost curve derived from total cost curve?

5+5=

5 I (@R A AP AT T @9 W A1
T ST R AR 2

10x4=40

10

10
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